MATH 2025, fall 2009 Quiz 3 Name

Please show all work, the correct arguments counts for half of the points! (Please print)

1[10P]) Which of the following sets of vectors is linearly independent and which are not?

a) V=R2 (1,1), (2,1).
b) V =R3(1,1,0), (1,-1,1), (2,1,1), (~1,2,4).
c) V=RY (1,0,1,-1)}, (2,0,~1,1), (0,1,1,1).

d) V = C{[0,1]) =, =% 1+ 2%

2[5P]) Write the vector (3,3,6) as a linear combination of (1,-1,0), (1,1,1), and (1,1, -2).

3[5P] Which of the following sets of vectors is a basis for the given vector space?

a) V =R2 (1,4), (-2,-8).

b) V=R (1,1,-2), (1,1,1), (1,-1,0).

c) V=R3(1,3,1), (1,-1,2).

d) V=R3 (1,2,1), (2,-1,0), (2, ~1,~1), (1,4, —1).
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